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s=100mm

a
< >l< L-2a >l< >
N L=600 £
< >
f'o(N/mm’) 30
b(mm) 70
h(mm) 100
d(mm) 85
L (mm) 600
a(mm) 150, 200 , 250
L-2a(mm) 300, 200, 100
D(mm) 6
fo(N/mm) 335
2
4
D(mm) 4
oy (N/ITY) 337
s(mm) 100
e c /
15 £
g 3 //(/
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b=70m
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N MN M,=Af |d-————
. A”y( 2x0.85f". b

f
N/mm? t':guz = pfy(l—l sfy, J bo?

N MN V,=V,+V, -

Vc zﬂdﬂ IBn fvcbd g

By d B, p By

=D6* 2/bd=63.3mm?70mm* 85mm=0.0106 (1.06%),
30N/mm?, 335N/mm?.

f : .
My ot [1- P |-0.0106-335 1- 222050 ) g qonymmy
bd 171" 1.7-30

C

M, = 3.30N/mm? - 70-85*mm’ = 1.67x10°N - mm =1.67kN - m

( a )

a=150mm P, 2M, _2-167KN-m _ ) N ( 2.3tf)
a 0.150m




_2.1.67kN-m

a=200mm - =16.7KN ( 1.7tf)
0.200m
a=250mm ) = w =13.4kN ( 1.4tf)
0.250m
a I:)m
Bs=PB,=p,=1 =0.20(30)“%=0.621N/mm?  f*c=30N/mm?

V, = BB, B, f.bd =1-0.62IN /mm® - 70mm- 85mm = 3.69kN

Aw=D4*00 =m 4mm/2 %2 =25.13mm2 (D4 )
ny:337N/mm2, z=d/1.15=85/1.15=73.91mm, s=100mm

_ AvfyZ _25.13mm? - 337N /mm’ - 73.91mm

\A = 6.26kN
S 100mm
V, =V +V, = 3.69kN + 6.26kN = 9.95kN
P=2V= 2-9.95kN =19.9kN ( 2tf)
a=150mm P, =22.3kN > P, =19.9kN : P =19.9kN
a=200mm P, =16.7kN < P, =19.9kN : P =16.7kN
a=250mm P, =13.4kN < P, =19.9kN : P =13.4kN
a P, P,
a a
M, = v,
Pn = P
Pm’ F)S Pmax
P <P: P.=P, P >P: P.=P
Pmax
P P=P,

P=Ps Prnax=Pm



